SO FIUADS

AIVIERICA

Catalogo de Produtos

Subplates



Subplates

101

—=r 3.5 —I—giﬂ..ﬂ ]

fer

1—"llllr %

hd

124

108.5
B4
?.
5
Ay kY

L b9
L~—MWI0/23

B T—4E 13
LY 6

| —

}
B

#25/0.5 ~
E/4°12.5 —_

Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G460/01 28 G3/8 13
NG10 G460/02 M18 > 1.5 4-M10 x 40-10.9 69Nm 1.7kg
G461/01 G1/2" (GB/T70.1-2000)
34 16
G461/02 M22 x 1.5
1%
— 110 b5 = )= #25/0.3 L R
—— 03— | =t ) B [~
T T e —DNg 14 ,
& Y, 4 e ty! 1]
i p [ 1B oz .y RE t"m
S o A o avis ol @ =Ty
'“ﬂ'—'ﬁl"‘ '\‘_.)x \:Jf__!,f—’_xj L1 J Zlgls
=1 g " n
J, oy W@ $DA5— " /3‘ f l "
02/t A i i
& S| 87/6 ] i) @
1.1 2.5
d 0 30,7 - T-*mﬁ
g 4.5 - 57§ et
0 il e
0. B0l 3 —=
Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G412/01 42 G3/ 17
G412/02 M27 x 2
NG25 - 4 -M10 x 50-10.9 69Nm 3.3kg
G413/01 G1" (GB/T70.1-2000)
47 20
G413/02 M33 x 2
15 T
= 1% a5 ]
—=r B i = M — LY &6 —=120 250, 5
I g ] 11 G1/4°/12.5
e —
[ i Y7 —AB 932
T s Lt
=enen a6
L DA WX
AN #9
IZE Y T ems
e
oY P M0 25
62.7 =
67, 5 —=
Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G414/01 56 G11/4 205
G414/02 M42 x 2
NG32 - 6-M10 x 60 -10.9 69Nm 5kg
G415/01 G11/2" (GB/T70.1-2000)
61 22.5
G415/02 M48 x 2

1 mating piece of valve

Huade América

2 Valve fixing screws

3 locating pin

4 Front panel cut-out



Subplates

G341/01 (G1/4” ) G341/02 (M14x1.5) Weight = 0.6kg (Dimensions in mm)

1] . 1 . # % Front panel cut-out
] A
VA 7 @@ﬁx&
i Ty B,
SEECRENE I — | D) @ )@}’
I A o PR \\kj/ﬁ:ﬁ\\
o/ \| AANF Ryl
M5 /10 afoum 22 o/ Nawy
g
- Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, = 9 Nm
G342/01 (G3/8” ) G342/02 (M18x1.5) Weight =1.1kg (Dimensions in mm)
105 1]
bl Front panel cut-out ; i
i 3[' 1 .
i b
= : p @:Dj \
Y B'
=] YRy ﬁ}hh P __)@m | gl @9 = |
-1 &” A A SyaleT TS/ \S e
A MR @
X 2 \ews N
[T AT @I/ 1 | LA /13
19
g Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, = 9 Nm
G502/01 (G1/2” ) G502/02 (M22x1.5) Weight =1.9kg (Dimensions in mm)
121 B.5
1 % Front panel cut-out i
3 s
| 9 VARZ N
- : @@T
- P
T4 F A
el ANIEIPN PN He g e / [/ ;’EB .
== &,{j\ .‘l"“fl"' J:_-::qgg \Jﬁ;;f/} 1\&5 =
N R R ®
/ =| \owu P 7
“5 .lllu,;' ][|,3 *, ET i ¢'H |'1 ﬁl.lrI..ll 14

1.8
40,3 Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),

M, =9 Nm

Huade América 3




Subplates

G66/01 G66/02 G67/01 G67/02

(Dimensions in mm)

n

iLE T34
i 48,7 Front panel
/| n i L. n7 cut-out
o104 167 |1L7 kil 161 —_—
R (e
D) ) 7N P BN
N2 Brmmill N L 7T P
: S WARNaN -
JT = - ) =|_
910 Sen E5 = v =
I \ i 3 M E . - B Qf’y/ -_J
A £ = =N AR (=
- - ¥ L I —
r i S
— ] sy
. - i
@ |/ ©r™ O -
N ) ) S | g
Ll 4 01/ T
Type D1 ™ ® D2 Weight Valve fixing screws Tightening torque for screws
G66/01 G3/8” 4-M6 x 50-10.9
12 28 approx.
G66/02 M18x1.5 (GB/T70.1-2000), 15N.m
G67/01 G1/2 14 34 2.3Kg Should be ordered
G67/02 M22x1.5 seperately.
G534/01 G534/02 (Dimensions in mm)
4
it
-"]-:1 Front panel %1
/1 - i,, " cut-out o
ois LT Ti1 u s L1
; \ 1 .
N (AN =2 o AN Jia
[P N7 al S NN
D10 Saax P \ P -
B R -
el L - I
R ! j _/
? ! ) L
| =L/ i » //{/:N\
i
&y | | | >
103 ' Y :
: 1 tightenzing torgue of
screw=15N.m
Type D1 T o D2 Weight Valve fixing screws Tightening torque for screws
G534/01 G3/4 17 42 approx. 4-M6 x 50-10.9 (GB/T70.1-2000), 15N.m
G534/02 M27x2 2.5Kg Should be ordered seperately.

Huade América




Subplates

G535/01 G535/02 G536/01 G536/02

(Dimensions in mm)

iy

0.4
§ 4 11 o Front panel
= LTS n/m cut-out
B0/ 1 Hi o 0 sl N 1M ."_
on ) 161 1-!/_ H N, \\ ] ff /
3 & G, R )
Ny / 2= - N I
a-mlliul\‘\ P L l." = “-.f/' | -‘||:\‘_ W1 \.\._F‘I 7
- I ™ W
Ie;Tagn =] = \/ < -y E|
Bl [T (N
[ INSD/izanN\N P/ AL
Izay w2 J {e ] M
NS , 7
1 .1 Bl
131
162, 6
Type D1 T1 D2 ¢ D3 Weight Valve fixing screws | Tightening torque for screws
G535/01 G3/4” 16 G1/4” 42 4-M6 x 45-10.9
G535/02 M27x2 M14x1.5 approx. (GB/T70.1-2000) 15N
.m
G536/01 G1” 18 G1/4” 47 3.6Kg Should be ordered
G536/02 M33x2 M14x1.5 seperately.

G172/01 G172/02

(Dimensions in mm)

Front panel
4 gy 08 1A -Gl S0 Tibape cut-out
L\_\ _\ \{hole ofg/g'\ i
ocating/pin
7 NP AW 7 ) AN
B — {.t =) 3
¥
= [ L "Jr /k q'i
“EEE = / v Ls > 2; ==
A=) /| S J4a
- f f\“"; L*J_ My by by
10 sl b J
1|83 = =
& 101l M1
1.1 i
6.5
Tt 6
1N
1016
14i
15
Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G172/01 | G3/4” G1/4” approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G172/02 | M27x2 | M14x1.5 2.8kg 2-M6 x 60--10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

(Dimensions in mm)

G174/01 G174/02
- Front panel
rodn/¥ \ cut-out
hole of locating pin :: i k] T 0
L ALE L2l Lo Tt E\ fﬂ 1 - Y ,-'r
i — T— = ]
o A\ L@ e D\ AN e
4 a{_ i 9 -c;_ ""{i. - P L
N — ;Lwy AN
L 'ud,f.' g o (\‘% [~ = .f"-L -
e e : - _ _y =
Pl Ll A0 A1 T 07 ey o &
) NUNER ANEF )y PARLY =i
X o &/ N
SEI-D & — @A S
. A adil L 1
1 L 3] 1 o
o w1 Ny
.Ilil 85
e 1]
LN ]
MLk 12
15
1M
Type D1 D2 Weight Valve fixing screws Tightening torque for screws
G174/01 G1” G1/4” approx. 4 -M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
G174/02 | M33x2 | M14x1.5 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m
G174/08 (Dimensions in mm)
- Front panel
b cut-out
: . . 111 Lol ] 3
A savawmw> B 4 [re A1 LT
P T
i e a— "f\@ ] e LR
My — i 4\_1«’ Nt
TG 7 ( i 9 s
Ao T T o el =t - i e i e e Al -
SFER AR A : B RS2 N M s
X lg? s / & NP ) -
- e
7 1648 1§ 1.5 1
L 0| ]
8/ Wi n
u "
1] i
1 i}
LK 1
WL 1
kS
1M
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
G174/08 25MPa 009 271 approx. 4-M10 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 62N.m
40MPa 009 272 5.5kg 2-M6 x 60-10.9 (GB/T70.1-2000),Should be ordered seperately. 12.5N.m

Huade América




Subplates

G151/01(G17)G151/02(M33x2):G153/01(G1") G153/02(M33x2)

(Dimensions in mm)

o

LHLE
1.5 .1 D, 518 27
el
1Ly 1]
g n1 I 21 (F) 11
.
ChmNEyicica
AN A A vd
\L/t /V_J'P R
L - -
X
B
E _‘} ﬂ-\\“" I/-“‘\L ]
= (’%’{(\f?‘ Y f)\‘_“'-/kf'\ eNE
I A\ TASY)
d i1.3
[] W_/ n LS
11 na7
LY

L of ¢ 8 only used on G153/01

-
; o %r T Jean
NIt
\ o RO
= ¥ A iy
/ 20 } Y D {-}\\@y .
= o\cjﬁy/da\* 2, -

1) Only used on

Size Type Weight Valve fixing screws Tightening torque for screws
G151/01

NG25 G151/02 5kg 6 - M12x60-10.9 105Nm
G153/01 (GB/T70.1-2000),
G153/02

valves which are
pressure-centred

G154/01(G11/4");G154/02(M42x2):G156/01 G156/02(M48x2)

(Dimensions in mm)

L only used on valves which are pressure-centred

Wi

20
anp
ﬂ S5 gp

Ll

(]

=)

s

i

LY}

]

L |
fan / f . — 2
) ;( {(' ,},\I ./ﬂ:' /a 4 ”‘/-:R?\[:q\”/-ﬁ;\l].
£y 'l - _— 9
| T . { Y %J. \“:5} (F%
IEEEE = e | _ T =
B X /4 B - a ¥ ! 5
. oo/t ot | a E[g%‘%%@ ?
RIPVA ~_AlZ B = ; ‘ﬁ:h*:
= : k!_j . NI Y = !”_’ [STETERi R Y]
h . LY \ﬂ

MBILLET
Lo iy

Size Type Weight D1 D2 Valve fixing screws Tightening torque for screws
G154/01 G11/4” 58

NG25 G154/02 5kg M42x2 6 - M12x60 -10.9 105Nm
G156/01 G11/2" 65 (GB/T70.1-2000)
G156/02 M48x2

20 Valve fixing screws 21 mating piece of valve 22 locating pin 23 Front panel cut-out

Huade América 7



Subplates

G154/08 flange connection (Dimensions in mm)
L !{.
nes L]
L) 23 L
nA TR ] 13 HIE.§
[ / I i \ iLE
¥ 1% LE]
S22 A T e WL
/g A N
al P
5 {.'ff '.I s F/:i& A EEp [ﬁ““-? .
- o et —l— P27 I R A I
. d, T 14, ) 6T o0 o)
8 = 2™ = ¥ o T =[ =
X LB =2 AR =
- PR e e P \ Bl s/~ =
ERAE WY |\ e
=t | &/ " L aToal o N
ey b L) ] — “& A AL
T % o FEE
“ Y, BMEULT |I L]
P SLART
11
21
ni
f “L” only used on valves which are pressure-centred
I Type |Pressure Valve fixing screws
L&
m flange conneting 009176 | 25MPa 6-M12x60 -10.9 (GB/T70.1-2000),
009177 | 40MPa

20 Valve fixing screws 21 mating piece of valve 22 locating pin 23 Front panel cut-out

G157/01(G1 1/2” );G157/02(M48 X 2) (Dimensions in mm)
o S BRE g on ml:;é
; ; X / o . ﬂ 15 — 21
m_| us /’4 / ;l'l' " FTITEA -
BOfo—+ & AADD) s Bl (O D/ D)
D Gé/ / - N7 N
nl/, F - [m,_gi & I‘\Rr'a_:j_,ﬂ =
o 8 2 /_ | . &t
P % 9 “{:“\ : o[ /{}\ /{j? Py j/ ;
;t A & | <m ay ) B rp\ mk:;//d'\\%_ykf}m/m ;I
OO~ | O XY NS = a
e SEWERT 21 ]
1805 RNCLERT . L]
- w, BULAT LART L) =

“L” only used on valves which are pressure-centred

Type Weight D1 D2 Valve fixing screws Tightening torque for screws
G157/01 18kg G11/2 G3/2 6 - M12x60-10.9 105Nm
G157/02 M48x2 | M18x1.5 (GB/T70.1-2000)

18 locating pin 19 Valve fixing screws 20 mating piece of valve 21Front panel cut-out

Huade América 8




Subplates

G158/10 flange connection (Dimensions in mm)
L Lyl HEdH
hole of slocating pin on w &1 .
o / . — - Front panel
%\n—"\lfor ports'ﬁ, B, T X, Y, ) ! " . "’15' T " h u 1] cut-out
kY E—
T (| ¢ ] HFF’ ; #i\-ﬁ:‘ﬁ- S
&
it - ap = @) v
SR Fpa g Penr s
=== .I L: ] = - é,{éi}
2z | gz — (| /A o z nﬁﬁf\/a/ﬂh\x L a7
7| e an MM nEAY:Y
; A1, s LA ‘/;*’I .
S AN e s Tty
n ' L J 25§ ii
- LAt o "
;L Li%. §
15 18]
1.3 s
DSt §
19§
i
[i
“L” only used on valves which are pressure-centred
Type Pressure Type Weight Valve fixing screws Tightening torque for screws
165MPa 303 901
approx. 6-M20 x 80-10.9 (GB/T70.1-2000),
G158/10 to 25MPa 303 902 580N.m
30.5kg Should be ordered seperately.
to 40MPa 303 903

Huade América




Subplates

For applications outside these parameters, please consult us!

G115/01 (G1/4” ) G115/02 (M14x1.5)

(Dimensions in mm)

189
1.7
11 bt it
A= 5 5| olLs/1 L4
iy 5 - EN] P s
QLU O] et IR )2
EdNNRLMNFANLQ LNR
= B‘C F;:’P{I\i L e e EANNRLMOF{NQx NKRLN, :‘.E.P.T] é}\k//{‘;ﬁ | -
? i i T’E - 0L/ : Front panel -~ Kjﬂf’i?k
_é% fl_il i‘:}-} % cut-out _EB_K/ (-}
1| Mg
1]
il - Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),

M, =9 Nm

G96/01 (G1/4” ) G96/02 (M14x1.5)

(Dimensions in mm)

8.9
1.7

1.3 11 W5/

ﬁ\ Wl S

19

o=
s
3

\,
1
|"‘l| c\
)

D §4H12 B

dVSLMNFANLO' LNR
EdVSLMOFJNQ x NKRLNR

Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M, =9 Nm

G647/01 (G1/4” ) G647/02 (M14x1.5)

(Dimensions in mm)

i ] ]
il 1.5 b i
5l f’“‘; | /TE @@T AT\

wlafe ] A T 8 @\_ Ll Iz ./E“\qu -
SRRl e Q) == SN2V

E/ \ /"' F\. \ / \d:llfl Front panel {th |

,‘/ : = Y. cut-out %
CYAU Mo\ o 43 EASQTLUNFANLQ. LNP

151
i
2.5

Huade América

EdSQTLMOFNQ x NKRLNP

Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
M,=9 Nm

10




ANNOTATIONS :

HUADE AMERICA

CEP : 03162-020 )
RUA HIPODROMO 1445 — MOOCA, SAO PAULO, SP, BRASIL

TEL : (11) 3186-5959
huade@huade.com.br
www.huade.com.br

Huade América


mailto:huade@huade.com.br

